
Multiply by Positive Powers of Ten (I)Find each product.
5.4192 × 10³ = 5.461 × 10² =
2.0856 × 10³ = 4.5318 × 10³ =
9.99 × 10² = 8.56 × 10³ =
5.38 × 10³ = 6.071 × 10¹ =
4.8 × 10² = 5.67 × 10¹ =
6.282 × 10³ = 9.17 × 10³ =
1.052 × 10¹ = 6.3 × 10² =
9.33 × 10¹ = 8.383 × 10¹ =
4.6791 × 10³ = 5.6 × 10¹ =
7.331 × 10² = 8.74 × 10³ =
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Multiply by Positive Powers of Ten (I) AnswersFind each product.
5.4192 × 10³ = 5,419.2 5.461 × 10² = 546.1
2.0856 × 10³ = 2,085.6 4.5318 × 10³ = 4,531.8
9.99 × 10² = 999 8.56 × 10³ = 8,560
5.38 × 10³ = 5,380 6.071 × 10¹ = 60.71
4.8 × 10² = 480 5.67 × 10¹ = 56.7
6.282 × 10³ = 6,282 9.17 × 10³ = 9,170
1.052 × 10¹ = 10.52 6.3 × 10² = 630
9.33 × 10¹ = 93.3 8.383 × 10¹ = 83.83
4.6791 × 10³ = 4,679.1 5.6 × 10¹ = 56
7.331 × 10² = 733.1 8.74 × 10³ = 8,740
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